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Worked Examples

1. Find the nth term and hence the 50th term of the AP 2,5,8,11, . . . .

View Text Solution

2. Which term of the sequence 37,32,27,22 . . . Is  ?

View Text Solution

−103

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_SI1ESULrTbAT
https://dl.doubtnut.com/l/_ZmZc4tXLGy36


3. If the 5th and 17the terms of an AP are 7 and 25, respectively, find the

13 the term .

View Text Solution

4. Find the sequence whose nth term is .

View Text Solution

5n − 12

5. If pth term of an AP is q and qth term is p, find rth term.

View Text Solution

6. The sum the sequence 25,21,17 . . . to 16 terms

View Text Solution

https://dl.doubtnut.com/l/_EE6ZwQ0QNl4K
https://dl.doubtnut.com/l/_rpQkbLGFcXtP
https://dl.doubtnut.com/l/_5b81st1MdA0h
https://dl.doubtnut.com/l/_JveQoq5BBmGG


7. How many terms of the series  must be taken to

make the sum 63 ?

View Text Solution

−9 − 3 + 3 + 9 + 15

8. Find the nthe term and hence the 7th term of the GP

 . . .

View Text Solution

3, − 6, 12, − 24

9. What term of the sequence  ?

View Text Solution

16, 12, 9. . . .  is 
243

64

10. Find the sequence whose fifth term is 48 and ninth term is 768.

View Text Solution

https://dl.doubtnut.com/l/_0LeRrxTqj9HV
https://dl.doubtnut.com/l/_F5rfmFvwn4gN
https://dl.doubtnut.com/l/_uqmZklAWRYLJ
https://dl.doubtnut.com/l/_slI6NZYtqbye


11. Find the sequence whose nth term is 

View Text Solution

3 × 23n− 2

12. Find the sum of the series to six terms 

View Text Solution

− + + . . .
2

9

1

3

1

2

13. How many terms of the series  must be taken to

make the sum 2186 ?

View Text Solution

2 + 6 + 18 + . . .

14. Find the nthe term of the following sequence : 

 . . .

View Text Solution

, ,
4

7

12

25

12

29

https://dl.doubtnut.com/l/_0tlux1aU77dp
https://dl.doubtnut.com/l/_Zn0tdeYTqyhi
https://dl.doubtnut.com/l/_uFzv3kG0jjQ5
https://dl.doubtnut.com/l/_VLQK4GFyfbB5


Test Yourself Level 1

15. The 6th and 12th terms of a sequence in HP are 12 and 6, respectively.

What is the 18th term ?

View Text Solution

16. The mth term of an HP is n and the nth term is m. Find the (m+n)th

term.

View Text Solution

17. If a,b and c are in HP, then show that .

View Text Solution

=
a − b

b − c

a

c

https://dl.doubtnut.com/l/_U6GhTBQvqIxS
https://dl.doubtnut.com/l/_5LUvxd3qSLhr
https://dl.doubtnut.com/l/_eW0nw50FLXet


1. Find the sum of the following sequences : 

2,13/4,9/2, . . . to 20 terms

View Text Solution

2. Find the sum of the following sequences : 

49,44,39, . . . to 17 terms

View Text Solution

3. Find the sum of the following sequences : 

3.75,3.5,3.25, . . . to 16 terms

View Text Solution

4. In an AP, the first term is 2, the last term is 29, and the sum is 155. Find

the common difference.

https://dl.doubtnut.com/l/_x45dkkWITBmL
https://dl.doubtnut.com/l/_o5YgVsr30GF7
https://dl.doubtnut.com/l/_2vnGgS4wxEFG
https://dl.doubtnut.com/l/_TEeziDQ4Da9Q


View Text Solution

5. Find the sum of the first n even numbers.

View Text Solution

6. The sum of 15 terms of an AP is 600, and the common difference is 5.

Find the first term.

View Text Solution

7. Find the sum of 15 terms of the series whose nth term is .

View Text Solution

4n + 1

8. Find the sum of p terms of the series whose nth term is (n/a)+b

View Text Solution

https://dl.doubtnut.com/l/_TEeziDQ4Da9Q
https://dl.doubtnut.com/l/_AiQu9dlAU4Li
https://dl.doubtnut.com/l/_L5CMvFgYghFk
https://dl.doubtnut.com/l/_YWOGC84mYsLf
https://dl.doubtnut.com/l/_2uq9GD8AOpjf


9. Find the nth term and the term indicated against each sequence. 

a,a+3d,a+6d, . . ., 

View Text Solution

t15

10. Find the nth term and the term indicated against each sequence. 

View Text Solution

−5, − 1, 3, . . . , t31

11. Find the nth term and the term indicated against each sequence. 

6, 11, . . ., 

View Text Solution

t20

https://dl.doubtnut.com/l/_2uq9GD8AOpjf
https://dl.doubtnut.com/l/_UZ3UUFUGy0fu
https://dl.doubtnut.com/l/_gNgLDAM64jrl
https://dl.doubtnut.com/l/_ViljR3ZZ1CGe


Test Yourself Level 2

12. How many terms are there in each of the following sequences ? 

1,4,7, . . . , 49

View Text Solution

13. How many terms are there in each of the following sequences ? 

72,70,68, . . .,40

View Text Solution

14. How many terms are there in each of the following sequences ? 

16,11,6, . . ., -19

View Text Solution

https://dl.doubtnut.com/l/_jYI3EBJvhzrz
https://dl.doubtnut.com/l/_RE1CtPHtYUkR
https://dl.doubtnut.com/l/_dTJxJhCvodUJ


1. Find the first term and the number of terms in an AP is 

the 4th,16th, and last terms are 36,0 and -42, respectively

View Text Solution

2. Find the first term and the number of terms in an AP is 

the 7th, 15th, and last terms are  and 15, respectively

View Text Solution

−6, 6,

3. Find the first term and the number of terms in an AP is 

the mth, nth, and last terms are n, m, and o, respectively.

View Text Solution

4. Sum the following series : 

 to 40 terms1 + 4 + 7 + . . .

https://dl.doubtnut.com/l/_ankqn6VK4wQy
https://dl.doubtnut.com/l/_29zrGCokphFn
https://dl.doubtnut.com/l/_7Y3LKiqXKrwG
https://dl.doubtnut.com/l/_2OigEr9dg4Dn


View Text Solution

5. Sum the following series : 

 to 20 terms

View Text Solution

−4 + 4 + 12 + . . .

6. Sum the following series : 

 to n terms.

View Text Solution

(a − b)2, (a2 + b2), (a + b)2 + . . .

7. How many terms of the series  must be taken to

make the sum 306 ?

View Text Solution

9 + 12 + 15 + . . .

https://dl.doubtnut.com/l/_2OigEr9dg4Dn
https://dl.doubtnut.com/l/_WqoT8EzMsD9x
https://dl.doubtnut.com/l/_IoaFIASfVwhr
https://dl.doubtnut.com/l/_8n4s3WFWiP9E


8. Find three numbers in AP whose sum is 15 and the sum of the squares

of the two extremes is 58.

View Text Solution

9. Examine whether the following form a geometric progression. If so,

find their sum. 

View Text Solution

1/(1 + x2), 1/(1 + x2)
2
, . . . , 1/(1 + x2)

n

10. Examine whether the following form a geometric progression. If so,

find their sum. 

View Text Solution

1, x/(1 + x2), x2 /(1 + x2)
2
, . . . , xn /(1 + x2)

n

https://dl.doubtnut.com/l/_awX29MEDhfHn
https://dl.doubtnut.com/l/_2gRxFHHKMn79
https://dl.doubtnut.com/l/_CoblWfG24aXG


11. Find the 8th term of the series , . . .

View Text Solution

−1/3, 1/2, − 3/4

12. Find the 5th and 8th terms of the series 3,6,12, . . .

View Text Solution

13. Find the 10th and 16th terms of the series 256,128, 64, . . .

View Text Solution

14. Which one of the following is in HP ? 

View Text Solution

1, , ,
1

4

1

7

1

10

https://dl.doubtnut.com/l/_2Nn0tNaShKC2
https://dl.doubtnut.com/l/_wkbzjLs2fdhh
https://dl.doubtnut.com/l/_8FPei5INaqQ5
https://dl.doubtnut.com/l/_1G8AMVZ32HkP


15. Which one of the following is in HP ? 

View Text Solution

, , ,
1

3

1

6

1

12

1

24

16. Which one of the following is in HP ? 

View Text Solution

2, , ,
1

2

1

7

1

5

17. Write the nth term and the term indicated against each case : 

View Text Solution

, , , . . . , t15
1

a

1

a + 3d

1

a + 6d

18. Write the nth term and the term indicated against each case : 

, , , . . . , t31
4

7

12

25

12

29

https://dl.doubtnut.com/l/_0WFWZgt5pBn2
https://dl.doubtnut.com/l/_DNIQRQfKNYH3
https://dl.doubtnut.com/l/_pjru4UxNZxo5
https://dl.doubtnut.com/l/_LfOIBPVY5Kxh


View Text Solution

19. Write the nth term and the term indicated against each case : 

View Text Solution

2, 1 , 1 , . . . , t10
3

4

5

9

20. Find the nth term and the term indicated against each sequences : 

View Text Solution

√2, , , . . , t10
1

√2

1

2√2

21. Find the nth term and the term indicated against each sequences : 

View Text Solution

0.3, 0.06, 0.012, . . . , t8

https://dl.doubtnut.com/l/_LfOIBPVY5Kxh
https://dl.doubtnut.com/l/_yqoAdweudogL
https://dl.doubtnut.com/l/_vNUniCDhvdZT
https://dl.doubtnut.com/l/_tCPwz2LovVBm


22. Find the nth term and the term indicated against each sequences : 

4,2,1, . . ., 

View Text Solution

t10

23. Find the nth term and the term indicated against each sequences : 

View Text Solution

1, 0.1, 0.01, 0.001, . . . , t20

24. Find the first term and the number of terms in a GP is the third, fifth,

and last terms are , and 729, respectively.

View Text Solution

3√3, 9√3

25. Find the first term and the number of terms in a GP if the fourth,

seventh, and last terms are 10,80, and 2560, respectively.

https://dl.doubtnut.com/l/_xXQ1t8YcDOGC
https://dl.doubtnut.com/l/_xJC9jO1jJYDQ
https://dl.doubtnut.com/l/_pqtGkstMcJOM
https://dl.doubtnut.com/l/_v8AYQYFf4K4B


View Text Solution

26. How mterms of the series  make the sum 1022 ?

View Text Solution

2 + 4 + 8. . .

27. Find the sum of the following series : 

 to 10 terms

View Text Solution

1 + √3 + 3 + . . .

28. Find the sum of the following series : 

 to 12 terms

View Text Solution

1 − 4 + 14. . .

https://dl.doubtnut.com/l/_v8AYQYFf4K4B
https://dl.doubtnut.com/l/_srwYT85vmJ5q
https://dl.doubtnut.com/l/_MyeuzbTngZbx
https://dl.doubtnut.com/l/_dhQUveqxBzEt


Test Yourself Level 3

29. Find the sum of the following series : 

 to 16 terms

View Text Solution

0.6 + 0.06 + 0.006 + . . .

30. Find the sum of the following series : 

View Text Solution

1 + + + . . . +
1

3

1

9

1

310

1. Find the sum of n terms of the series

View Text Solution

(2a2 − 1)/a, 4a − 3/a, (6a2 − 5)/a, . . .

https://dl.doubtnut.com/l/_t5q7UKailXWc
https://dl.doubtnut.com/l/_YjlSlm181FkN
https://dl.doubtnut.com/l/_b0LyEm74hW2Q


2. In a GP, the first term is 7, the last term is 448, and the sum is 889. Find

the common ratio.

View Text Solution

3. The sum of three numbers in GP is 38, and their product is 1728. Find

them.

View Text Solution

4. Sum  to n terms.

View Text Solution

1 + 2a + 3a2 + 4a3 + . . .

5. Sum  to n terms.

View Text Solution

1 + 3x + 5x2 + 7x3 + . . .

https://dl.doubtnut.com/l/_UH34rY8lmiSo
https://dl.doubtnut.com/l/_G5sUnpBD28qn
https://dl.doubtnut.com/l/_kKbYAt54oK2c
https://dl.doubtnut.com/l/_0vtgIdbEgwTL


6. Find the harmonic mean of 2 and 10.

View Text Solution

7. Find the sum to n terms of the sequence .

View Text Solution

14 + 24 + 34 + 44 + . . . n4

8. Find the sum to n terms of the series 

View Text Solution

1.3.5 + 3.5.7 + 5.7.9 + . . .

9. Find n such that  be the arithmetic mean of a and b.

View Text Solution

an+ 1 + bn+ 1

an + bn

https://dl.doubtnut.com/l/_JG1FzBWMWt2H
https://dl.doubtnut.com/l/_THBqPhL96AA4
https://dl.doubtnut.com/l/_EuvyRP4gQCWs
https://dl.doubtnut.com/l/_lN3h5puJPbAX


10. Find n such that  be the geometric mean of a and b.

View Text Solution

an+ 1 + bn+ 1

an + bn

11. Find the sum of all natural numbers between 202 and 3030 which are

divisible by 6.

View Text Solution

12. Find the geometric mean of the following numbers : 

(i) 3 and 12 

(ii)  and  

(iii)  and 

View Text Solution

a2 b2

√2 16√8

https://dl.doubtnut.com/l/_UYB2wxbzclWU
https://dl.doubtnut.com/l/_ckOwzt6eCkPi
https://dl.doubtnut.com/l/_rUSOLMHj7uyJ


Test Yourself Level 3 Multiple Choice Questions

13. Find x if 

,x, and  are in HP

View Text Solution

1

a − d

1

a + d

14. Find x if 

3, x, and 9 are in HP

View Text Solution

15. Find x if 

2,x, and 6 are in HP

View Text Solution

https://dl.doubtnut.com/l/_y3DKbXUpkCIX
https://dl.doubtnut.com/l/_o1vZIzNIvkat
https://dl.doubtnut.com/l/_fa2d1ppIqfXe


1. The Fibonacci sequence is defined by

. Then the value of 

 is

A. 1

B. 2

C. 0

D. 

Answer: C

View Text Solution

a1 = a2 = 1, an = an− 1 + an− 2, n > 2

a5 − a4 − a3

−1

2. If for a sequence , where  is the sum of n

terms, then value of  is

A. 65

B. 75

< an > , Sn = 2n2 + 9n Sn

a20

https://dl.doubtnut.com/l/_6CdDF1DRWOO5
https://dl.doubtnut.com/l/_MfXueI5XJcq8


C. 87

D. 97

Answer: C

View Text Solution

3. The first three terms of a sequence are 3,3,6. Each term after the

second term is the sum of two terms preceding it. The  term os the

sequence is

A. 15

B. 24

C. 39

D. 63

Answer: D

View Text Solution

8th

https://dl.doubtnut.com/l/_MfXueI5XJcq8
https://dl.doubtnut.com/l/_SOIH7MJQ2Fl0


4. The common difference of the AP whose  term is given by 

 is

A. 2

B. 3

C. 5

D. 6

Answer: C

View Text Solution

nth

tn = 5n + 4

5. Which of the following can't be an AP (  term is given) ?

A. 

B. 

C. 

nth

3n + 2

3n2 + 2

4n + 5

https://dl.doubtnut.com/l/_SOIH7MJQ2Fl0
https://dl.doubtnut.com/l/_UZEIvf5t85Q0
https://dl.doubtnut.com/l/_C0XOftUl50zL


D. 

Answer: B

View Text Solution

7n + 2

6. If mth term of an AP is  and nth term is  then mnth term of the

AP is

A. 

B. mn

C. 1

D. none of these

Answer: C

View Text Solution

1

n

1

m

1

mn

https://dl.doubtnut.com/l/_C0XOftUl50zL
https://dl.doubtnut.com/l/_F9mbsQ56ofjm


7. The sums of n terms of two AP's are in the ratio .

Find the ratio of their  terms.

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

(3n − 13) : (5n + 21)

24th

1

2

2

3

2

1

3

2

8. How many terms of the series  must be taken

to make 300 ?

A. 25

B. 36

20 + 19 + 18 + . . .
1

3

2

3

https://dl.doubtnut.com/l/_2lXPXXqevQfK
https://dl.doubtnut.com/l/_IweeXioGN9kK


C. both (A) and (B)

D. none of these

Answer: C

View Text Solution

9. If N be the set of natural numbers is partitioned into groups

 then the sum of the numbers

in  is

A. 62525

B. 57567

C. 62505

D. none

Answer: A

View Text Solution

S1 = (1), S2 = (2, 3), S3 = (4, 5, 6), . . .

S50

https://dl.doubtnut.com/l/_IweeXioGN9kK
https://dl.doubtnut.com/l/_2KiqZKxU8Ku6


10. If

, where each set of parentheses contains the sum f consecutive odd

integers as shown then the smallest possible value of 

is

A. 18

B. 19

C. 20

D. 21

Answer: D

View Text Solution

(1 + 3 + 5 + . . . + p) + (1 + 3 + 5 + . . . + q) = (1 + 3 + 5 + . . . + r)

p + q + r(p > 6)

11. Let  be roots of the equations  and  be the

roots of the equation  If  and 

α, β x2 − 2x + A = 0 γ, δ

x2 − 18x + B = 0 α, β, γ

https://dl.doubtnut.com/l/_2KiqZKxU8Ku6
https://dl.doubtnut.com/l/_wZ0Pov7re6GE
https://dl.doubtnut.com/l/_8H9I27KOKLOD


 are in arithmetic progression, then find the values of

A and B.

A. 

B. 

C. 

D. none of these

Answer: B

View Text Solution

δ(α < β < γ < δ)

A = − 2, B = 77

A = − 3, B = 77

A = 77, B = − 3

12. If a,b,c and d are distinct integers which form an increasing AP such

that  then the value of  is

A. 1

B. 2

C. 3

d = a2 + b2 + c2 a + b + c + d

https://dl.doubtnut.com/l/_8H9I27KOKLOD
https://dl.doubtnut.com/l/_6FFnCq05NHCz


D. 0

Answer: B

View Text Solution

13. If the  terms of an A.P. be a, b, c respectively, then 


A. 1

B. 

C. 0

D. 

Answer: C

Watch Video Solution

pth, qth and rth

a(q − r) + b(r − p) + c(p − q) =

−1

1/2

https://dl.doubtnut.com/l/_6FFnCq05NHCz
https://dl.doubtnut.com/l/_0CJui7f72Kzd


14. Let  denotes the sum of n terms of an AP. If , then the

ratio  is equal to

A. 9

B. 6

C. 16

D. 12

Answer: B

View Text Solution

Sn S2n = 3Sn

S3n

Sn

15. If  are in AP, where  for all i, then the value of

 is

A. 

B. 

a1, a2, a3, . . . , an ai > 0

+ + . . . +
1

√a1 + √a2

1

√a2 + √a3

1

√an− 1 + √an

1

√a1 + √an

1

√a1 − √an

https://dl.doubtnut.com/l/_eW6LkhLhBHDc
https://dl.doubtnut.com/l/_U6CZIEoAInmR


C. 

D. 

Answer: D

View Text Solution

n

√a1 − √an

n − 1

√a1 + √an

16. If m+n)th and (m-n)th terms of a GP are p and q, respectively, then

the  term of the GP is

A. 

B. 

C. 

D. none of these

Answer: B

View Text Solution

mth

p( )
q

p

m

2n

√pq

√p/q

https://dl.doubtnut.com/l/_U6CZIEoAInmR
https://dl.doubtnut.com/l/_jYTmuEbTDIB9
https://dl.doubtnut.com/l/_95nNIp16NXgy


17. Find the sum up to n terms of the series

 and .

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

a + aa + aaa + aaaa + . . . , ∀a ∈ N 1 ≤ a ≤ p

[ (10n − 1) − n]
a

9

10

9

a{ (10n − 1) − n}
10

9

{ (10n − 1) − n}
1

9

10

9

{ − n}
a

9

(10n − 1)

9

18. Find the sum up to n terms of the series

 and .

A. 

B. 

C. 

0. b + 0. + 0. + 0. b + . . . , ∀b ∈ N 1 ≤ b ≤ 9

b{n − (1 − ( )
n

)}
1

9

1

10

[n − {1 − ( )
n

}]
b

9

1

9

1

10

[n − {1 − ( )
n

}]
1

9

1

9

1

10

https://dl.doubtnut.com/l/_95nNIp16NXgy
https://dl.doubtnut.com/l/_YW0RiUpVwR1n


D. none of these

Answer: B

View Text Solution

19. Let  be the roots of the equation  and let 

 be the roots of the equations . If the numbers 

 (in that order) form an increasing GP, then values of A and

B are

A. 

B. 

C. 

D. none of these

Answer: A

View Text Solution

x1, x2 x2 − 3x + A = 0

x3, x4 x2 − 12x + B = 0

x1, x2, x3, x4

A = 2, B = 32

A = − 2, B = 32

A = − 2, B = − 32

https://dl.doubtnut.com/l/_YW0RiUpVwR1n
https://dl.doubtnut.com/l/_s758mUjLub4w


20. Let a,b,c be in AP and  be in GP.  and 

 then find the values of a and c.

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

a2, b2, c2 a > b > c

a + b + c = 3/2

a = , b =
√2 + 2

2√2

√2 − 2

2√2

a = , b =
2 − √2

2√2

√2 − 2

2√2

a = , b = 1
√2 + 2

√2 − 2

a = , b =
2 + √2

2√2

2 + √2

2√2

21. Let a,b,c,d and e be five real numbers such that a,b,c are in AP, b,c,d

are GP, c,d,e are in H.P. If  and  then find all possible values

of b,c and d.

A. 

a = 2 e = 18

b = 6, c = 4, d = 3

https://dl.doubtnut.com/l/_s758mUjLub4w
https://dl.doubtnut.com/l/_OznHvblUAQh4
https://dl.doubtnut.com/l/_6mOChU2luQ1v


B. 

C. 

D. none of these

Answer: B

View Text Solution

b = 4, c = 6, d = 9

b = − 6, c = − 2, d = 9

22. Find n so that  be the AM be and b. (if )

A. 1

B. 2

C. 0

D. 

Answer: C

View Text Solution

an+ 1 + bn+ 1

an + bn
a ≠ b

−1

https://dl.doubtnut.com/l/_6mOChU2luQ1v
https://dl.doubtnut.com/l/_InnHpKeI90bO


23. There are n AM's between 3 and 54 such that  mean is to 

 mean is as to 5. Find n.

A. n=12

B. n=13

C. n=16

D. n=15

Answer: C

View Text Solution

8th

(n − 2)th

24. Find n, so that  is the GM between a and b.

A. 

B. 

C. 0

(a ≠ b)
an+ 1 + bn+ 1

an + bn

1/2

−1/2

https://dl.doubtnut.com/l/_kc46if0gRVU4
https://dl.doubtnut.com/l/_f5qoJxugJSr2


D. none of these

Answer: B

View Text Solution

25. Find n, so that  be the HM between a and b.

A. n=0

B. n=13

C. 

D. 

Answer: D

Watch Video Solution

(a ≠ b)
an+ 1 + bn+ 1

an + bn

n = − 1/2

n = − 1

https://dl.doubtnut.com/l/_f5qoJxugJSr2
https://dl.doubtnut.com/l/_cvJ9h3R3dSyG


26. If a,b and c are in AP then the value of

 is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

a2(b + c) + b2(c + a) + c2(a + b)

(a + b + c)3

4b3

6b3

10b3

27. Sum of the first n terms of the series  is

equal to

A. 

B. 

+ + + + . . .
1

2

3

4
7
8

15

16

n − 1 + ( )
n1

2

n + ( )
n1

2

https://dl.doubtnut.com/l/_ra9yt3ZxvuBW
https://dl.doubtnut.com/l/_0Aom229Zf9CV


Olympiad And Ntse Level Exercise

C. 

D. none of these

Answer: A

Watch Video Solution

n − 1 − ( )
n1

2

1. If the pth term of an A.P. is q and qth term is p then its rth term will be

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

p − q + r

p + q − r

p + r − q

p − q − r

https://dl.doubtnut.com/l/_0Aom229Zf9CV
https://dl.doubtnut.com/l/_vCqlt3n8voi6


2. The sum of 24 terms of the following series

 is

A. 300

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

√2 + √8 + √18 + √32 + . . .

300√2

200√2

3. If the sum of n terms of an A.P. is  then the  term will be

A. 

B. 

2n2 + 5n nth

4n + 3

4n + 5

https://dl.doubtnut.com/l/_vCqlt3n8voi6
https://dl.doubtnut.com/l/_7jpU3RoUeTpE
https://dl.doubtnut.com/l/_wVXX5BEf7kUp


C. 

D. 

Answer: A

Watch Video Solution

4n + 6

4n + 7

4. The sum of the first five terms of the series  will

be

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

3 + 4 + 6 + . . .
1

2

3

4

39
9

16

18
3

16

39
7
16

13
9

16

https://dl.doubtnut.com/l/_wVXX5BEf7kUp
https://dl.doubtnut.com/l/_itdfpcb4rLUB
https://dl.doubtnut.com/l/_Pl73pFElohSz


5. In an AP, of which a is the first term, if the sum of the first p terms is

zero then the sum of the next q terms will be

A. 

B. 

C. 

D. none of these

Answer: C

View Text Solution

−
a(p + q)p

q + 1

a(p + q)p

p + 1

−
a(p + q)q

p − 1

6. If x,y and z are in G.P. and  then

A. 

B. 

C. 

ax = by = cz

logb a = loga c

logc b = loga c

logb a = logc b

https://dl.doubtnut.com/l/_Pl73pFElohSz
https://dl.doubtnut.com/l/_RG0hQMSgoKvT


D. none of these

Answer: C

Watch Video Solution

7. The value of  is

A. 4

B. log 4

C. log 2

D. none of these

Answer: A

Watch Video Solution

0.2
log√5 ( + + + . . . )1

4
1
8

1
16

https://dl.doubtnut.com/l/_RG0hQMSgoKvT
https://dl.doubtnut.com/l/_OEowAq4My37B


8. Match the following columns : 

View Text Solution

9. Match the following columns and then choose the correct option

from amongst the given codes. 

https://dl.doubtnut.com/l/_4Q8tw0Jymj4m
https://dl.doubtnut.com/l/_UXJM4hTTuwa8


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(p)  (q)   (r)  (s)

(1)  (2)  (4)   (3)

(p)  (q)   (r)  (s)

(2)  (1)  (3)   (4)

(p)  (q)   (r)  (s)

(3)  (4)  (2)   (1)

(p)  (q)   (r)  (s)

(2)  (1)  (4)   (3)

10. If a,b,c,d  such that a,b,c and d are in H.P. then∈ R+

https://dl.doubtnut.com/l/_UXJM4hTTuwa8
https://dl.doubtnut.com/l/_tNG4BV5Kq2Xh


A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

a + d > b + c

a + b > c + d

a + c > b + d

https://dl.doubtnut.com/l/_tNG4BV5Kq2Xh

